™ % = =
@emes ONE J

[ i
ol

oo

WEA oot

Code No. {‘? Jf i
s A Tzl Fe F SH-7Ew F qE-gD
Roll No. : R 31g¥a Tord |

Candidates must write the Code on the
title page of the answer-book.

o TG WY A foh T IT-TA H Hfgd I 31 €|

o TE-TH A IR 7Y I AR R T HIe T Sl B IW-IEH & TU-T8 R 04 |

e U SE T T AT-TH 23 WA

oYY YT T T {CTEHT I8 & | Uee, W T iR aravd fod |

« TWIE-TI F UG & A€ 15 T 1 wHy fom a1 ye-w @ famo yoig 9
10.15 9151 T2 SO | 10.15 991§ 10.30 S 0% B had T99-97 B! 0811 IR 20
Frafy & <RE 3§ T-Yfd W HE 3| T8 fag? |

o  Please check that this question paper contains 31 printed pages.

*  Code number given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

e  Please check that this question paper contains 23 questions.

e DPlease write down the Serial Number of the question before attempting
it, _ '

* 15 minute time has been allotted to read this question paper. The question paper
will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book

during this period.
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G) FEF-UF 51 @Sl ° f9ved 5 - & 3k G/

) @S % gyl & fw sfvard 81

(i) @S @ & 1 faey & - fadi faaro 1 feciqn qoy Sfaike e |
(v) T G § Had UF § (997 & 59 & Fo 1@y

(v) &G 797 F G4l GUSl & IW TF § H W @ 51 T7w)

General Insiructions :
(1) This question paper contains two parts - A and B.
(it} Part A is compulsory for all.

(i11) Part B has two options - Analysis of Financial Statements and Computerized
Accounting.

(iv) Attempt only one option of Part B.

(v) All parts of a question should be attempted at one place.

10
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WY -
(TSIl wAl qer FmtEl & o ereteT )
PART - A

(Accounting for Partnership Firms and Companies)

L 40 AN 1 U WE & WG] Y ST =edl ¢ | ésﬂwruﬁaﬂwm 1
TR © T O UERK B ¥ gowd @) afyedn g w8 g%l § 9 39
AW 1 T e yegH & Irta 98 fear m §

A group of 40 people wants to form a partnership firm. They want your advice
regarding the maximum number of persons that can be there in a partnership
firm and the name of the Act under whose provisions it is given.

2. W, T T AN TH FH F WA A 9132 2: 1% AW A A wed ) R 1
| ww%%w%fmmaﬁ_@wmmmm% T @, /e

%mﬂﬁmm|

., ¥, AN T TH. & T T U bl TN i

P, Q and R were partners in a firm sharing profits in the ratioof 3: 2: 1. They

; 1 . : :
admitted S as a new partner for gth share in the profits which he acquired

lthf P dlth
1¢  irom Pand — ' from Q.

Calculate new profit sharing ratio of P, Q, R and S.

10
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93.2.2016 ! $HE files g Arefed 54 13 50,000 oG 390 T 2 Yid o9
i 9T AT U < B ME 1000 AW & UH UG S A 9T Fre by
1 YT Tl fhdT1 750 W & Tk A URE Hifdd 1 J99 I F T T 4

wfa atw W gl 9w it e R w1 e o e R

HHHT T [l § - G 991 (Ee- el Gl Bled g W SR

| grla SR & Y eeas Jshme vfafe sifvg
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On 28.2.2016 the first call of T 2 per share became due on 50,000 equity shares -
alloted by Kumar Ltd. Komal a holder of 1000 shares did not pay the first
call meney. Kovil a holder of 750 shares paid the second and final call of  4°
per share alongwith the first call.

Pass the necessary journal entry for the amount received by opening
calls - in - arrears and calls - in - advance account in the books of the company.

‘TR & faues’ 9un fuEer v & foeed’ & A enfde wEy' % emen
T = I |

Distinguish between ‘Dissolution of partnershlp and Dassolution of partnershlp
firm’ on the basis of ‘Economic Relationship’.

‘Wmaﬁﬁmﬁ%mmﬁaﬁxﬁm 2013 % JEEF! &l oG HITST

State the provisions of Companies Act, 2013 for the creation of ‘Debenture
Redemption Reserve’.

mam%ﬂ@tﬁcf%maams 3%?313%15{611%16@ ) 3132015
aﬁwmgqasfﬁzmﬁuooooaﬂwm: wasawmlﬂm?zooo
o |

Wmaﬁmﬁ@vﬁaﬁﬁﬁﬁ%ﬁ Wmmwﬁ%m
Wﬂmyﬁfﬁﬁml
10
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Tom and. Harry were partncrs in a ibm sharing profivs m the ratio of 5@ 2.
During the vear ended 31.3.2015 Tom had withdrawn % 40,000. Interest on
his drawings amounted to < 2,000.

Pass necessary journal entry for charging interest on d1 awmgs assuming that
~ the capltals of the partners were fluctuating.

7 232016@@ wWe o, %ﬁee?wseomaﬁess 9% OGS &1 A
fean

ﬁmﬁwﬁmewww‘mwm:
(F) ﬁWst%%@WWWEwm@mm%fﬁaﬁme
R TeAl S R |

(@) 5« B/ o1 i 19% & ey W f6an T a9 S MYE 6% &
. ey W T S 4

On 2.3.2016 L and B Ltd. issued 635, 9% debentures of ¥ 500 each. Pass

necessary journal entrles for the issue of debentures in the following -
situations :

(@ When debentures were issued at 5% discount, redeemable at 10%
premlum

f

(b) When debentures were issued at 12% premmm, redeemable at 6%
premium. ‘

8 () TP WEER ¥ e, (i) T WRRR F O 70 (1ii) T HIHER F SHR T 3
%mwﬁm@mwmmﬁmqﬁaﬁwﬁﬁmﬁ
A A T

State any three cucumstances other than (i) death of a partner, (ii) admission
of a partner and (iii) retirement of a partner when need for valuatlon of goodwill

of a firm may arise.
10
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9.

%, feiheg 5 9L FHEE B ¥ 15,00.000 ©1 FET] G4 T 5,00,000 5 30T

&1 TR 13,68,500 H THAT1 T 25,500 1 YA 11, Taiiee o usi 4§ ¢ U
Y, 9d Uk Yidal O W gRI TRd T 991 99 61 aE 9. fafhee o vy |
% 100 YOS & HHA A7 &1 FHET 25% & ATy T Hih fHar|

- S ool o T %, Tafee gl § snevad Asere gfaftedr Fii |

10.

67/1

K Ltd. took over the assets of ¥ 15,00,000 and liabilities of ¥ 5,00,000 of
P Ltd. for a purchase consideration of ¥ 13,68,500. ¥ 25,500 were paid by
issuing a promissory note in favour of P Ltd. payable after two months and

the balance was paid by issue of equity shares of ¥ 100 each at a premium of
25%.

Pass necessary journal entries for the above transactions in the books of K Ltd.

TGgah] ®l USTR ISH HT 3G A9 S 991 HYAR 69 & IRMa 5 &
s werr ¥ o = o e ¥ 96 R T W wite o @ fok
for | & T A % AT S Y T 10 T % 8,50,000 WA A9 )
% 3 9f7 (v & eifuemy W frifeg =@ &1 fofg e @t ofw of el W
<7 o1 20,00,000 ¥ % TAT ST T FLI 3,00,000 39 & AT AT *
ﬁﬁﬁmwwﬁﬂaﬁaﬁﬁmﬁﬁﬁmmwaﬁﬁwmmﬁm
| |

TR A ¥ T e o T § oreves s vrafeat it e
T fodl o 7ol 9 TeEn S R SET Teia S 9 €

To provide employment to the youth and to develop Baramula district of
Jammu and Kashmir, Jyoti Power Ltd. decided to setup a power plant. For
raising funds the company decided to issue 8,50,000 equity shares of ¥ 10 each
at a premium of X 3 per share. The whole amount was payable on application.
Applications for 20,00,000 shares were received. Applications for 3,00,000
shares were rejected and shares were alloted to the remaining applicants on
pro - rata basis.

Pass necessary jburnal entries for the above transactions in the books of the
company and identify any two values which the company wants to propagate.

10
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L1, Tashig ddl ":a‘aa‘-; Ueh 7 F UERE Y 4814 : 23 3 RICR Rk aZg A 1.4.2014 1

T IR AT T l o AT & I IS & U T WEER I 991 35 T 1,50,000

EH_H%WWEE{W@ forenT® AT el o1 41 T U T3¢l ol @ I
d&1 i MR & HRUT g3 frdl ol Hul A1 92 : 3% FIE H 937 ST T G&6d
B0 31.3.2015 I TS g ¥ § WY T @14 T 9,00.000 A1

31.3.2015 %! UATG §U 9 & Toig foqenm, foaer qen e &1 any-=ifq fafaagsH
AT TIR T |

Vikas and Vivek were partners in a firm sharing profits in the ratio of 3 : 2.

: 1 :
On 1.4.2014 they admitted Vandana as a new partner for gth share in the

profits with a guaranteed profit of ¥ 1,50,000. The new profit sharing ratio
between-Vivek and Vikas will remain the same but they decided to bear any
deficiency on account of guarantee to Vandana in the ratio 2 : 3. The profit of
the firm for the year ended 31.3.2015 was ¥ 9,00,000.

Prepare Profit and Loss Appropriation Account of Vikas, Vwek and Vandana
for the year ended 31.3.2015.

12, HIE, Y 91 TREY TF &H o WEIGR 9 991 1: 2: 1 39 | oy sieq 91 4
- i arlt ed wite 31 W 1 wE et §1 30 RdwER, 2015 F Y i FreE
& 39 fafy @ SHeH St @@ 5,000 F AW A <9 @ AT RIEsHE
T % 30,000 1 T VY o7 HH HI G G T 3,80,000 FohaT TN
weg % 9 | Y & A9 i oA e We 9wl & $fea w1y, ST 90,000 9
% YR W & SR

T & FET | & o [H ¥ avad UseHe giafedr s |

Manav, Nath and Narayan were partners in a firm sharing profits in the ratio
of 1:2: 1. The firm closes its books on 315t March every year. On 30tk
September, 2015 Nath died. On that date his capital account showed a debit
balance of ¥ 5,000. There was a debit balance of ¥ 30,000 in the profit and
loss account. The goodwill of the firm was valued at ¥ 3,80,000. Nath’s share
of profit in the year of his death was to be calculated on the basis of average
profit of last 5 years, which was ¥ 90,000.

Pass necessary journal entries in the books of the firm on Nath’s death.

67/1 7 Y1E1925 P.T.O.
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e AT ITE T HH R WHCR 9 AU 30 7 % Ad O @i 90 91 142015
@l IFE B w1 faoed & v wefagl (Awe § wiafad) aw 7 Saae 5
el @ § WEeiE w39 % EE s S m 3§ f

(%) ¥ 3,60,000 % T TR 1 T 5,00,000 W Yedifchd T %) WIER #
feran a1 ®H &l ¥ 1,40,000 1 TIAH T a0 |

(W) ¥ 50,000 % T TEL TER A T 45,000 o4 & Rid &I 57 <@ & 70
92 &g WeR fHan|

() ¥ 90,000 % TH WY TTRR A AT T & T F9eR 3G T 45,000 TR 74T
3 43,000 & 99w fou |

(%) fa=es w =T 15,000 o)

ngqﬁaﬁwﬁmmmwmﬁ%mtﬁhﬁw
T s Ysmsr yfafear sifa)

Lal and Pal were partners in a firm sharing profits in the ratio of 3: 7. On
1.4.2015 their firm was dissolved. After transferring assets (other than cash)
and outsider’s liabilities to realisation account, you are given the following
information :

(a) A creditor of ¥ 3,60,000 accepted machinery valued at ¥ 5,00,000 and paid
to the firm < 1,40,000.

(b) A second creditor for ¥ 50,000 accepted stock at ?‘ 45,000 in full settlement
of his claim.

(¢) A third creditor amounting to ¥ 90,000 accepted ¥ 45,000 in cash and
mvestments worth ¥ 43,000 in full settlement of his claim.

(d) Loss on dissolution was ¥ 15,000.

Pass necessary journal entries for the above transactions-in the books of firm
assuming that all payments were made by cheque.

8 YEARS
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14. @R, UH 9O A U FH H WERHK 4T 1:2: 3% A9 § @ig wied 41 6

6711

§1.3.2015 1 S fiefq faawor fv=1 e 9 ar .

31.3.2015 i 3T, TH. qT 21, &7 ferfd faawon

‘ 3 z

GEEAR 50,000| Y 50,000
g fom 20,000 49 50,000
U g9y 30,000 |wdTe 1,00,000
st Wi 40,000
3TR.1,00,000 TR 30,000
T, 50,000 CED 5,000

& 25,000 |1,75,000
12.75,000 2.75,000

142015 9 S, TH. 71 9. 3 e SRR s i Fofa fomen | gaen forg

7% e gen o .

(%) ®H I @Al F1 i T 1,50,000 foram < |

(@) 97 1 GT: qedichT T 80,000 W fehd S 7o 9o W 6% Yoo @l

i |

(1) % 6,000 % TR @ T&A T8I P, ms%mﬁfﬁaamﬁmm

4ifgu |

iR e, R % e @ aen it e a feafy fraor S SR
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R. S and T were partners in a (e sharing profits in the raiiool 1: 2
Balance Shect as on 31.3.2015 was as follows :

Balance Sheet of R, S and T as on 31.3.2015

Liabilities Amount Assets Amount
3 T

Creditors 50,000 (Land 50,000
Bills Payable 20,000| Building 50,000
General Reserve 30,000|Plant 1,00,000
Capitals : _ -Stock 40,000
R 1,00,000 Debtors 30,000
S 50,000 Bank 5,000

T 200 14750600
2,75,000 2,75,000

- &Y
..

Thewr

R, S and T decided to share the profits equally with effect from 1.4.2015. For
this it was agreed that :

(@) Goodwill of the firm be valued at ¥ 1,50,000.

(b) Land be revalued at ¥ 80,000 and building be depreciated by 6%.

(¢) Creditors of I 6,000 were not likely to be claimed and hence be written

off.

Prepare Revaluation Account, Partner’s Capital Accounts and the Balance
Sheet of the reconstituted firm.

67/1
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15. 1.4.2013 H A9 fafiees &7 100 ¥9F F T 1,00,00,000, 10% o9 e 6
o

@) 1.4.2014 F FUA 7 G IR T ¥ F 30,000 HOGE F HI T 99 Uy
FOOH Dl X TR 9u 5% [ © = e

(i) 28.2.2015 ! HEH! 7 Th diedl g 50,00,000 & FUIGH! HT eH FHIE
W R fean

(i) 81.1.2016 I VY FHUTS ] T & F & T T 19,99,000 ¥ w9 fwa
T |

FOTN TS 91 ROH WY i ) HIH A T O g SRS el & fau
BT BT qETR] B STOYgE S gfafedl st

On 1.4.2013 JJJ Ltd had ¥ 1,00,00,000, 10% Debentures of ¥ 100 each
outstanding.

(i) On 1.4.2014 the company purchased in the open market 30,000 of its own
debentures for ¥ 99 each and cancelled the same immediately.

() On 28.2.2015 the company redeemed at par debentures of ¥ 50,00,000 by
draw of a lot.

(1) On 31.1.2016 the remaining debentures were purchased for immediate
cancellation for ¥ 19,99,000.

Ignoring interest on debentures and debenture redemption reserve, pass
necessary journal entries for the above transactions in the books of the

company. 'l 0
YEARS
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- 16.

oSl 37 10 99 & 3,20,000 THAT 2 AT 5 UG AW & AAY W

frifgg w0 & fo emaes smt=a fed Ui &1 yar 9 TR 8 & o

R T 7 3 9 S @ 1 YR s st gt
e -3 5 W 9 R 2 wfa e afreny afeq)
YeOH qeT AR FEAT W - 99

4,00,000 378 ¥ fAT ST W9 G 40,000 3 & &S I ® W fean @
Ao amde Uiy e K G T A AREH H SIS AR R A H
e R T SRS W TS ST A % SR e W39
A s foran T 800 S % ¥Rk, Sod A e U B Grar T& fear qun
I ST T oA T KT fer TN I T AW AT A T,

e 2,700 ofe ¥ fa s fEa a1 3t g W e S R

67/1

IF A 1 i wor T T A wor R R S H 9 1,500 of wiz 8 ufa

o9 9o vem T Frtee o fe w1 q: fifha R ool & oftem & ww

fod T8 gl oty wiwfea 9 -

SR S 3 ferw e ) e & s e whifed St
ST

ateh. fafaes ¥ 2 10 FEF F 1,00,000 THA S F12 3 9 afer F iftrn
W Frffir foran it o6 s & el S oy Ffe @ wafem Jsvmern gttt
S 99 $9 WH o g2 W1 o R wrl ) O fifs
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(1,40,000 2191 & feru T 6 gfa 31w difgay
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SHaRl 17
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BE 20 [ .

| (e afin 1 i o e R
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Tafy EERR CRE TR | ST
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YA [ S
(9o wd SAfq Ir=mT Ui 29)
HIA20 |...... ... T
31 JredT T Gl M 3.000
(99 T AT I/ IR 9T &)
BB i s =
(37 il = & T e 59 R 9o T
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SH IS {ens rencnnn EIL]
......... 9 3,000
(Ru-fed ™ a:mﬁ &1 I fie)
......... B
o &
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SKLEd inmvitea appheatizns b ssumg 320,000 ety shares of 10 cach «f

a premium of T § per gshave. The amount wag payable ag follows
On application - ¥ 3 per share (including premium < 1 per share)
On allotment - ¥ 5 per s-hare (including premium ¥ 2 per share)
On First and [Final Call - Balance.

Applications for 4,00,000 shares were received. Applications for 40,000 shares
were rejected and application money refunded. Shares were alloted on
pro-rata basis to the remaining applicants. Excess money received with
applications was adjusted towards sums due on allotment. Jeevan holding 800
shares failed to pay the allotment mohe'y and his shares were immediately
forfeited, Afterwards final call was made, Ganesh who had applied for 2,700
shares failed to pay the final call. His shares were also forfeited. Out of the
forfeited shares 1,500 shares were re-issued at ¥ 8 per share fully paid up. The
re-issued shares included all the forfeited shares of Jeevan.

Pass necessary journal entries for the above transactions in the books of the
company. '

OR

~ BBG Ltd. had issued 1,00,000 equity shares of ¥ 10 each at a premium of ¥ 3
per share payable with application money. While passing the journal entries -

related to the issue, some blanks are left. You are required to complete these
blanks.

: YEARS
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Books of BBG Lid.

Journal
_ Debit | Credit
Date Particulars L.F.| Amount | Amount
3 4
2015
Jan, 05 ... | Dr.
Ly e
(Application inoriey received for 1,40,000
shares @3 6 per share including premium)
Jan. 17 |Equity Share Application A/c ... Dr.
P osuanrses
) e .
i i o [ ——
I rep—
(Application money transferred to share capital
account, securities premium account, refunded
for 20,000 shares for rejected applications and
balance adjusted towards money due on
allotment as shares were alloted on pro - rata
basis) '
740 0 7 Y Dr.
L 1y -
(Allotment money due @ T 4 per share)
Bleh PO S posmannons wsininns Dr.
PO it i
(Balance allotment amount received)
67/1 16 YEARS
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Debit Credit
Date Particulars | L.F.| Amount | Amount
Z ?
April 1 Dr.
0 e s
(First and Final Call money due)
Apl 20 susmin i sowmusvan smasen Dr.
Calls-in-arrears A/c... Dr.
. 3,000
B o sinm o
(First and Final Call money received)
Miay 20 (iawsin smmmmsimns wwwives Dr.
Iy TP
BN s v
(Forfeited the shares on which First and Final
Call was not received)
IRd IB | commpavunmnaemmmana Dr.
Dr.
3,000
i s [
(Forfeited shares re-issued)
Dr.
i .
i)
67/1 17 YEARS P.T.O.
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(v) TE. &I T 14,000 ) T IETH R ST T I H RGO I9F R
g ¥ R el S fgst PN 9 oRer it [hvdl § 10% giaad
oIS & 9ig ToHar S/ |

) @f.am‘#,.%nwwzﬂﬂa@mm:z’@mwmaﬁ%ﬁ:ﬁwm@m

T T, SRR F det @n qu T w6 fef fe $6R St

L, M and N were partners in a firm sharing profits in the ratioof 3: 2 : 1.
Their Balance Sheet on 31.3.2015 was as follows :

Balance Sheet of L, M and N as on 31.3.2015

Liabilities | Amount Assets Amount

4 3
Creditors 1,68,000|Bank 34,000
General Reserve| 42,000{Debtors 46,000
Capitals : Stock 2,20,000
' 1.1,20,000 Yovaatneits 60,000
M 80,000 Purniture 20,000
N 40,000 | 240,0001yr. hinery 70,000
4,50,000 4,50,000

On the above date O was admitted as a new partner and it was decided that :
(1) The new profit sharing ratio between L, M, Nand QO willbe 2:2:1: 1.

(1) Goodwill of the firm was valued at 3 1,80,000 and O brought his share of
goodwill premium in cash.

YEARS

- By QUESTION PAPER.COM
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(1) The market value of investments was ¥ 36,000.
(iv) Machinery will be reduced to ¥ 58,000.

(v) A creditor of T 6,000 was not likely to claim the amount and hence was to
be written off.

(vi) O will bring proportionate capital so as to give him gth share in the profits

of the firm.

Prepare Revaluation Account, Partner’s Capital Accounts and the Balance
Sheet of the New Firm.

10

YEARS
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OR

J, H and K were partners in a firm sharing profits in the ratioof 5:3: 2. On

31.3.2015 their Balance Sheet was as follows :
Balance Sheet of J, H and K as on 31.3.2015

Lisbilities RRRED Assets SRR
4 : %
Creditors 42,000|Land and Building 1,24.000
Investment - 20,000|Motor Vans 40,000
Fluctuation Fund
Profit and Loss 80,000{Investments 38,000
Account :
Capitals : Machinery 24,000
Stock 30,000
J 1,00,000 Debtors 80,000
H 80,000 Less : Provision 6,000
K 40,000} 290,000 74,000
i 32,000
3,62.000 3,62,000

On the above date H retired and J and K agreed to continue the business on

the following terms :

@) Goodwill of the firm was valued at < 1,02,000.

@) There was a claim of T 8,000 for workmen’s compensation.

(i11) Provision‘for bad debts was to be reduced by ¥ 2,000.

(iv) H will be paid ¥ 14,000 in cash and the balance will be transferred in his
loan account which will be paid in four equal yearly instalments together
with interest @ 10% p.a.

(v) The new profit sharing ratio between J and K will be 3 : 2 and their

capitals will be in their new profit sharing ratio. The capital adjustments
will be done by opening current accounts.

Prepare Revaluation Account, Partner’s Capital Accounts and Balance Sheet

of the new firm.
10
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Elg - d

(foita feautt et fagerm)
PART - B

(Analysis of Finanecial Statements)

18. 'Ume yor faaxu’ =1 219 e : 1

Give the meaning of ‘Cash Flow Statement’.

19. ‘U 3o yfayfed T8 = @1 9RO, WA AYS] AN & R  WMEKA Y, 1
et feafs 4 1 fowa & fou iRy fod R A@ & SF AW 81 R
HUT TE 27 e YA T9oR0 GIR Td 999 W TR I idiaieE € g
g Jore g TR ot Afafafidl & =wia Sligd fwal SR

‘An enterprise may hold securities and loans for dealing or trading purpose
in which case they are similar to inventory acquired specifically for resale’. Is
the statement correct ? Cash Flows from such activities will be classified under
which type of activity while preparing Cash Flow Statement ?

20. (%) '®H & g 3qF RO & AN &l A0Fd 61 ke HAT G991 B
HATIHIHA TF Troehield el fefd &1 SaH o faxie fae &
faveon &1 Tw W g1 39 fovduw & R Q1 oIk 3wl 1 S
FHIWT I 2+2=4

(W) S afufrm, 2013 9 G 10 & Sria wive o e a9
‘o1 T, el % S gyl SIHeTel Q- Hal i gEt

10
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(a) e of the gbjectives of “Financal Statement Analysis is to judge the
ability of the fivm to repay its debt and agsessing the short term as well
as the long term hiquadity position of the firm. State two more objectives
of this analysis.

(b) List any two items that are presented under the head ‘other current
liabilities’ and any two items that are presented under the head ‘olher
current assets’ as per schedule III of the Companies Act, 2013.

21, (&) 'fgmofierar ofqur’ @ =0 aifyyr 22 | 9+2=4
(@) fer e | e (Wie) Sad Sgur &t M HINT |
HTEEA ¥ ATTH 2 16,00,000; 490 3921 (W) € 2,20,000; FFd
g1 3TN 5% |
(a) What is meant by ‘Activity Ratios’ ?

(b) From the following information calculate inventory turnover ratio;
Revenue from operations ¥ 16,00,000; Average Inventory ¥ 2,20,000;
Gross Loss Ratio 5%.

292, 31T 2015 ! FANE gY ¥ % fore w7 sfvean fafres &1 env-wify foomw frsr 4
TR Y §

1 P 31.3.2015 31.3.2014
TR | 3 3
HRbH Y W 50,00,000{ . 40,00,000
I AT 2,00,000 10,00,000
Feard fed oy ooy F A H 60% | e ST I 50%
I Y FHR] feqeny =@ | wE feqeny =04
F110% 1 20%
ERNE! 50% 40%
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T 3frea fafiee & ARY-H WA UGS F1 6 Fh 39 faemon 9w §
Roe &6l § &1 §1 399 T9IH & fIws &6l &1 asfedl &1 onawias
TR 9 i T 9 o 1% a6 g

fed MU a-wif oo @ qeEre - faaver tAr Sl aur 4 e
< Yot w1 veEn off sifse 9= S gue @ 9 S wwd g

Following is the Statement of Profit and Loss of Moon India Titd. for the year
ended 318t March 2015.

; Note 31.3.2015 31.3.2014
Particulars No. 3 >

Revenue from

operations ' 50,00,000 40,00,000

Qther Incomes 2,00,000 10,00,000

Employee benefit 60% of total 50% of total

expenses Revenue Revenue

Other Expenses 10% of employee 20% of employee
benefit expenses benefit expenses

Tax Rate 50% 40%

The motto of Moon India Ltd. is to produce and distribute green energy in the
backward areas of India. It has also taken up a project of giving vocational
training to the girls belonging to the backward areas of Rajasthan.
You are required to prepare a comparative statement of Profit and Loss of
Moon India Ltd. from the given statement of Profit and Loss and also identify
any two values that the company wishes to convey to the society. _

10

25 YEARS P.T.0.

QUESTION PAPER.COM



o
(V]

67/1

31.3.2015 @l TH.H. Tafies &1 i 9970 9 ¥R 4 40

.. ffes
31.3.2015 <! Teafa fagor
o T 131.3.2015|31.3.2014
T 5§ z
1. 9T g7 T '
(1) twert ffua]
(1) o g 5,00,000| 4,00,000
(9) 999 ud s 1 2.00,000| (50,000)
@) sram Tmand
SIefehTe R0 2 | 4,50,000| 5,00,000
(3) g e
(31) AHHTA R 3 | 150,000 50000
() TTEHTA T 4 70,000 90,000|
. g 13,70,000| 9,90,000
11. sfcgmgfaat
(1) 3= gRgriaar
(31) TR gefqar
(i) 37l 6 20,000{ 80,000
() 1= e 1,00,000] 75,000
(2) = ufamataal
() wiw (A=) 1,07,000] 45,000
(W) s au U%s & 90,000{ ° 60,000
KR 13,70,000{ 9.90,000
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o=

-

LITET W AT
. o 31.3.2015 3.2
. 1.3.2015 | 31 3? 014
) \g=w w9 anfasy (enfasa-amy-gm
[ECIUKEIRIL: 2,00,000] (50,000
2,00,000] - (50,000)
2) | Sdeeta =y
12% 093 450,000  5,00,000
450,000f  5,00,000
@) | ey o
EEACICICER 1,50,000 50,000
1,50,000 50,000
@) | yeae |
ESEAR ICEIE] 70,000 90,000
o 70,000 90,000
©) | wferafi |
R 12,083,000  8,21,000
THT g™ (2,00,000)] (1,01,000)
10,03,000f  7,20,000
6)  |s et |
LI 20,000 30,000
20,000 30,000
@ =% (fosnt < fere ) 1,07,000 45,000
| 1,07,000 45,000
:'Hﬁ'lﬁﬁﬂ H?HI g

G 12% TGN B WY 31.3.2015 H FHAT W=

Gi) ¥ H T 70,000 F PAE fHam T
e a8 faero d9R sifdu)
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Fudinwine sag Pw Batanee Bhedt, o & AL Lid at-on, 31.3.2015.

MLM. Ltd.

Balance Shect as at 31.3.2015

M Note [31.3.201531.3.2014
. No. z %
‘1. Equity and Liabilities
@) Shareholder's Funds
i7) Sl gl 500,000 4,00,000
(b) Reserves and Surplus 1 2.00,000 (50,000)
(2) Non-Current Liabilities _ .
Long- term borrowings 2 4,50,000| 5,00,000
(3) Current Liabilities
(a) short-term borrowings 3 150,000| 50,000
(b) short-term provisions 4 70,000]  90,000]
e 13,70,000 | 9,90,000
II. Assets
(1) Non-Current Assets
(a) Fixed Assets
| (i) Tangible 5 10,03,000 -7,20,000
* (i) Intangible 6 20,000 30,000
(b) Non-Current Investments 1,00,000 75,000
@) Current Assets
(a) Current Investments 7 50,000 60,000
i} Dnventories 1,07,000] 45,000
(¢c) Cash and Cash Equivalents 90,000} 60,000
o 13,70,000 | 9.90,000
- YEARS
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Notes To Acconnds

Note Particulars 31.3.2015 | 31.3.2014
No. kil 3 3
(1} |Reserves and Surplus (Surplus
l.e. Balance in statement of Profit
and Loss)
: 2,00,000 (50,000)
2,00,000]  (50,000)]
(2) |Long - term borrowings 12% o
Uhe it 450,000]  500,000].
‘ ‘ 4,50,000 5,00,000¢
(3) |Short - term borrowings
Bank overdraft 150,000 50,000
1,50,000/- 50,000
(4) |Short - term Provisions Provision o .
i 70,0000 90,000|
: 70,000 90,000
(5) |Tangible Assets - I
Machinery 12,03,000] 821,000
Accurpulated Depreciation (2,00,000)] '(1,01,000)
o 10,03,000| ~ 7,20,000
(6) |Intangible Assets ] |
Goodwill 20,000 30,000
20,000 30,000
(7] Inventories o
Stock in trade 1,07,000 45,000
1,07,000 45,000}
Additional Information :
(1)  12% Debentures were redeemed on 31.3.2015.
(i) Tax< 70,000 was paid during the year.
Prepare Cash Flow Statement.
YEARS
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( srfyesterT dEies )
PART - B

(Computerized Accounting)

'arihg IR 9k (BRT SIE wEfed) ' § fied seui @ g dfswg 1

List the steps that are involved in ‘Data Processing Cycle’.

HiTd AEiFT WRIA § AWH AR il T FY HT T & 7 1

How 1s Accounting data computed in a computerized accounting software ?

QI ORI el 1 AN Hlch b FHIYH fFexul’ TR & & WO &1 4
TG T |
State the steps to construct ‘Bank Reconciliation Statement’ using accounting

software tally.

vt i 3 el R Se-te TR darE @ e aEE 3 g
7

Internal manipulation of records is much easier in computerized accounting

than in manual accounting. How ?

Mhe UG o4 Jomell (ST H.TH.) & foel 9] ol & gmemul 4

Explain any four advantages of Data Based Management System (DBMS).
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{feq §ur T qUEEs &1 9% ¥ 391 o9 i3 & semw faan 393 @
I 2 15,000 %1 T FoT & UR T TEHE I 39N R g (F) AT g
a9, (W) 9eme 9, (nj%ﬁﬂmwam (9) 9Raed 9 & T S %
RERSIE

et

e o chl‘eicbl{“{ feaq - 31 %, Te% W S A odd &l 45%, YRARSH WIF &
fau e fHuen a= X - 99 1 25%, TR QUERsS WG & fau 7w
YT T TR S B 12%, YRS @I 1 UREeT W < 2,000 Wi 71 i
YA R & IREeT ¥ T 1,000 ATHE & |

Rohit Kumar is a non-supervisor. He took leave for half a day during the
month. His basic pay is ¥ 15,000. On the basis of the following information
using Excel, give the formulae to compute, (a) Basic Pay Earned; (b) DA;

(c) House Rent Allowance and (d) Transport Allowance.

Information :

Number of working days in the month are - 31, Rate of D.A. 45% of basic pay,
HRA for supervisory staff is 25% of basic pay, HRA for non-supervisory staff
12% of basic pay. Transport allowance for supervisory staff ¥ 2,000 per month

and transport allowance for non-supervisory staff ¥ 1,000 per month.
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